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1. Feature Zetag HAH Y 213
s 9 2 chel P |
-1.00-0.75,10/ -2.00-
ol ERT 1.56(TOK) =
cror= 0.25,165/ +1.50 — !
C-0.50,70/C- _
L I =
CRO| 823 1.66 (BL) 0.50.95/+1.75 = 1
C-2.50,90/C-
OS2 1.66 =
SRS By 1.50,90/+1.25 !
CRO| B2 1.56 (BL) 0.00/+1.00/+1.00 = 1
CROIZZ311.56 (BL) -0.25/-0.50/+2.25 = 1
C-2.00,80/C-
ol &2 1.66 (BL) s
S 2.50,85/+1.50 - ]
-4.50-1.75,165/-4.00-
F3 N OK. =
CROIBAF 1.60(TOK) 1.25,10/+1.50 = 1
-4.25-0.50,85/-3.50-
(E-E3-'BN OK) =
n i 1.00,100/+1.25 !
C-0.50,70/C-
B =<
CROI 828 1.66 (BL) 0.50,95/+1.75 = 1
+1.25-1.00,60/+1.25-
.66 (BL) o
CRO|E 23 1.66 (B 0.75,110/+2.00 x= 1
-3.00-0.50,20/-2.50-
ol B2 1.56(TOK) =
cRolm 0.50,110/+2.00 - k
CRO| 8 23] 1.66(BL) -1.25/-1.25/+2.75 = il
-4.75-0.50,90/-
CROIEZ=T 1.60(TOK) =
1= 5.00/+2.00 - !
CRO| 8 &3(BL) 0.00 / +1.25 = 5
CROI & 238 (TOK) 0.00 / +1.25 2= 5
CROI @& (BL) 0.00 / +1.50 = 5
CROIE £ (TOK) 0.00 / +1.50 = 5
CROIZAE(BL 0.00 / +1.00 = 5
CROI B2 (TOK) 0.00 / +1.00 & 5
CREIBMT 0.00 = 5
ERUET T Y ea 20
@eray prag A4 (FPDEZH) ea 20
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